Math 2 Unit 3.1 Simplifying, Multiplying, and Dividing Radicals Name:
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Dividing Radicals) — Ifhave ]y , then ) (Note: [index numbers must equal!)
**To be simplified when dividing radicals means to have[NO RADICALS LEET IN DENOMINATOR,
**]f there is radicals left in the denominator, then you must RATIONALIZE THE DENOMINATOR!
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Example 3: Divide and then simplify the quotient.
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Example 4: Divide and then simplify the quotient by rationalizing the denominator.
v 18
a.) \/E b.) 16x° ¢.) @ d.) :
8 z 3b 9m

i 4% e bJm
Z- W, « N




EXOMP\(..
i, O =

a \3xS
NI ]\%x \IET»O
le 9\)(3

\3) \!‘{Xx \’ yg Y __> ‘gx,’s AP &kx \ )2
j ! N
\bey ) ‘4 X"“ vl

@‘wz\

&’ 5 | 250y 5 8] = — }
C\> ZSOX i S \/35;5\,7‘ —— bxs XZYL

:zxz,

\i:z Xy (;SZ? Xg-?g.\r?.
s ‘l>£\

Cannct lewve 1 in thts Bret
TH s 6 tedied On dM‘-’ﬁmg‘hf.

3 3 3 < (3 32 3NV
& \J‘Z(x N \} i\;‘bj\'l N J;w#\, — \5%—) ";’\% {‘—"}

X

5 x* Y [Msf mce Tato
Two cAdTcals

Zz 3.3 Je
O N LB VIR HE O3
J3e )
DB 0, LB uE e



“-3 .Sl‘. N Sx —_— ﬁ D
25,2 SxJ% \r>_< Jx I

(=4

Jqa%

_1,\Y“\{ .__>
T Un

I\
5
N

%) __Li_,._, ~ ﬂ Z or
d\ \j 20cb —> 2;;)3 —2 Qoet 7 e

2pic Va

3

=5Ade

YA



